## 1990-91

SCH00L	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Estimated)	TOTAL
Renaissance School Alpine, N.J.	1 full time	Emotionally Disturbed	\$ 8,000.00	\$ 8,000.00
C.P. Center Belleville, N.J.	2 full time	Multiply Handicapped	\$21,666.00	\$43,332.00
School #3 Belleville, N.J.	1 full time	Perceptually Impaired	\$ 7,500.00	\$ 7,500.00
School #4 Belleville, N.J.	1 full time	Communication Handicapped	\$ 8,000.00	\$ 8,000.00
Therapeutic School Belleville, N.J.	1 full time	Emotionally Disturbed	\$20,000.00	\$20,000.00
Forest Glen School Bloomfield, N.J.	3 full time	Educable Mentally Retarded	\$ 8,142.00	\$24,426.00
North Jersey Child Development Cedar Knolls, N.J.	1 full time	Emotionally Disturbed	\$17,289.00	\$17,289.00
ECLC Chatham, N.J.	1 full time	Neurologically Impaired	\$16,500.00	\$16,500.00
C.P. Center Clifton, N.J.	1 full time	Multiply Handicapped	\$17,220.00	\$17,220.00
C.P. Center Edison, N.J.	2 full time	Multiply Handicapped	\$22,750.20	\$45,500.40
State Street School Hackensack, N.J.	1 full time	Emotionally Disturbed	\$21,500.00	\$21,500.00

<u>SCHOOL</u>	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Estimated)	TOTAL
Bergen Center for Child Dev. Haworth, N.J.	5 full time 2 full time 1 full time	Neurologically Impaired Emotionally Disturbed Multiply Handicapped	\$15,300.00 \$15,300.00 \$15,300.00	\$76,500.00 \$30,600.00 \$15,300.00
Deron III Little Falls, N.J.	1 full time	Multiply Handicapped	\$16,110.00	\$16,110.00
Children's Institute Livingston, N.J.	2 full time	Emotionally Disturbed	\$17,600.00	\$35,200.00
Stepping Stones School Livingston, N.J.	1 part time	Trainable Mentally Retarded	\$ 7,500.00	\$ 7,500.00
Felician School Lodi, N.J.	1 full time	Trainable Mentally Retarded	\$13,455.00	\$13,455.00
Deron II Montclair, N.J.	1 full time	Communication Handicapped	\$16,110.00	\$16,110.00
Montclair State College Demonstration Program Upper Montclair, N.J.	1 full time	Communication Handicapped	\$13,375.00	\$13,375.00
Lake Drive School Mountain Lakes, N.J.	2 full time	Auditorily Handicapped	\$18,860.00	\$37,720.00
COED Newark, N.J.	1 part time	Neurologically Impaired	No tuition	•
Bergen County Special Services Paramus, N.J.:				
Midland Avenue School Paramus, N.J.	1 full time	Multiply Handicapped	\$ 8,000.00	\$ 8,000.00

SCH00L	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Estimated)	TOTAL
Palisades Learning Center Paramus, N.J.	1 full time	Emotionally Disturbed	\$17,524.00	\$17,524.00
Union Co. Vocational School Scotch Plains, N.J.	2 part time	Emotionally Disturbed	\$ 1,680.00	\$ 3,360.00
Community School Teaneck, N.J	1 full time	Neurologically Impaired	\$15,667.00	\$15,667.00
Clearview School Wayne, N.J.	1 full time	Emotionally Disturbed	\$16,380.00	\$16,380.00
Essex Co. Vocational School West Caldwell, N.J.	5 shared time 5 shared time 8 shared time 2 full time	Emotionally Disturbed Neurologically Impaired Perceptually Impaired Perceptually Impaired	No tuition """ """ """	
Essex Valley High School West Orange, N.J.	2 full time	Emotionally Disturbed	\$15,500.00	\$31,000.00
Community High School Westwood, N.J.	1 full time	Emotionally Disturbed	\$15,990.00	\$15,990.00

• 1			,
RESIDENTIAL PLACEMENTS		- 4 -	
SCH00L	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER TOTAL STUDENT (Estimated)
Grove School	1 full time	Emotionally Disturbed	\$28,343.00 (Educational)

## PENDING PLACEMENTS

 ${\small 2} \ \ {\small full time \ emotionally \ disturbed} \\$ 

Dated: August 27, 1990